
 
 
 
 

� ا�آ��ة وا��	�ال ��� ا�
�ن ���وآ�� ���
 آ��
	�ت:    آ����ء ���       ���	� �

 ه!ا ا 	��# $	%�2
2 8S O Iوا�
�ن 
�دور − −  
# 

� در*( ا )�ارة                                 +� 
20-).�ل -�, c° . 
2:        آ�� -3	�ل�12
 ا ��دو*	�ن -0                 /I I 2و           − 2

2 8 4/S O SO− −. 


 آ7س $45                  # 89�1 40V mL= ت ا ��>�;��م�	
2-� -).�ل ���وآ�� ���
 آ��
2 8(2 )K S O+ 1>�آ��= +−

1 10 /C mol L−=, 

#0
 ا .)?(                  t = $45 @�9�2 60V mL=  دور ا ��>�;��م�
)-� -).�ل  )K I+ 1>�آ��=  +−
2 1,5.10 /C mol L−=. 

                  A  س���ا;1( *%�ز�  ).C8 >�1ر -�ا�	< �- �D�	� ا �2.�-�ت ��.F  ا E�.3 -8ا ��ا).C ا ��>�E �+?�م  	(.� �G(+# �-� ا 
                  
 : ا �+)+F ا 	� 

.  -3	�ل-آ��-0ِِِِ اآ	N أ��Gف ا ��2د�ت ا� D	�و��( ا C�3( �� ��دو*	�� -1-1      0.5          
� اQآ��ة وا��	�ال ���اآ	N ا ��2 -1-2       0.5       ���	  ).�G( ا ) 2د

2 8S O Iو  − −. 

         1        1-3-  ����	.  ���Cو� و�* 8S.ى�GA م ا�A	 د ا�5maxx ����	. . 

 ا )� ( ا ��+�( >2��� >�آ�� -2-1       1          # E� ,آ� -� ا�
���ت أ

                2
2 8S O − , I 2و −

4SO − U2� ) �� : أو آ� ا ��Aد
� ا 	� �( ,�

�م                A	 اx ,1V,2V  ,1C ,2C. 
       0.5       2-2-  ).Cأن ا ��ا ��.�G N	D< E�.3.  )�+�� ا )� ( ا 
#: 

 
 2 2

1 2 8 2 3 4 4( )G k S O I SO Kλ λ λ λ− − − +       = + + +        

 

1:   وان    1 2 2

1 2

2CV C V
K

V V
+ +

  =  +
 

                       :     � ان��                  
1

( . )G A B x
V

= +         8-AوB ن و�		���1 2V V V= + 

          

  0.5    2-3- N	D< ��:     ��� أن ا ���) ا ��4((  .	��
1 d G

v
B d t

=  

                 3-   
.
 ���#!�7� 1,9 .A mS L= 142و . .B mS L mol−=  . 
� ا .)?(  -3-1      1           +� ��75tاو*� ا ���) ا ��4((  .	�� s=. 


  ا �0ال   -3-2     0.5         # )VW2 ا F.�
 ا )� ( ا ��,�( C0G.(اN�5 ا ��ا -2-2ا�	��دا # ,).Cوا ��اmaxG )�,�%+ ا )� ( ا 
#.   �- �    >7آ
 .ا +	�4	�� -������                    

1��ف -4-1     0.5         
2
t �� .ز-� �G@ ا 	��

�  >2���ن أ���  -4-2     0.5         �� ز-� �G@ ا 	��+� ).C1ا ��ا
2

G N	D<   :1
2

0 max

2
G G

G
+

= 

         0.5    4-3-  N�51ا
2

G  Y	+	;1وا
2
t. 

 
�ث ه�از >�دد=   : : ��#1
�ء       (
100N Hz=   ف�1 ��S )���* ت��!�!< 
A#ن أ�- ��(  ,�+1V ��(.  ��Qف ا�ا 1 F.� @.�. 

 

 ه!= ا 	4��(؟ -1          0.5        # �1A دور ا�- 

                  2-  �%3
� ا .)?( ا 	
 >�ر+� �1>12
 ا 	����) *���[ -?%� ا (�t  . أت�� 
 .#�%� 5�آ( ا %�از أWC  .	�ار
^�2	�� ا .)?( ا 	
��� آ� -� _�ل ا ��*( -2-1    0.5        λ  `�ر	ا�� )� . .��*( Vو;�
 0.5     2-2-  ^
 .1tاو*� ا 	�ر

   
 0.5     3- )1A+ ا ��	2�M a�(� �8SM-� ا )� cm=. 

      ��	1A+ ا 
 .Sو�VMرن 5�آ	
9
ء ا )�� ��ا;1( و-�ض >�دد و-�9>[  -4   �SN 

 0.5   4-1- �-�	- � ؟V�� �cه�
�ه
 اآ�� ��V(  	�دد ا �-�9ت  ���و ا )�
        1       4-2-)��A ا �+�E�9�101eN >�دد ا �-�9ت  Hz= 	#)d�1� )
5�د -+)F ه!= ا )�آ( .��و ا ��*�ت #
 5�آ( �cه� . )�5�د ا �� 

 )
  . ��*�ت��	`�ر ا aVا ?�ه�

 )�,�
�	�ن          ذ:   -�ة ا���4ز     1�.�م #��
�,�(  1ا �ورة 1ا ��ض ا �)�وس رV$    1ا ���f( ��ك �.�م #���;.
 -�ا�
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��#2
�ء               : a��� �;�

 ا %�اء) Ultrasons(-� -�*�ت #�ق salves ()�<�C(د#�2ت,#.    
                          ��.�A	�- 
4� ��ا;1( را;$ ا 	!�!ب ذ�!��ت ا 	�>� ��� -��1�� 

 a��.� F�v ا�;	�A-( -8 ا �� ����S�- ��.F ا 	��4 �G(+# 
# �D` ا 
                 ]���* .     
0,1ا )��;�( ا�A#Q(  �ا;$ ا 	!�!ب ه /HS ms div= 

        0.5      1- � �;	A��ل ا ��*( #�ق �C>�( -� _�ف  ��V  τ( ا 	�7� ا �-+
 او*
 ��.�A	�� ا. 

        1.5      2-   ��.�17Dا ���#( ��� ا ��	A�.�� ه
    أن cm=.  )�                 VاN�5 ا ��

 ا %�اء                    # )�<�C ت #�ق�*��. . wا��* �.�.         

                 
               

 
 
 

12
 �Sء  ��[ ا�5� و_�ل -�*	[ , ��ا;1( *%�ز  ��ر :    ��#3
�ء 
633nmλ  :�+�4 ا 	�4رب ا 	� �( =
                        (I )��4	 ات -� ا .��ر:1ا�	�	89 ;+� �2� F.��.F ا )�-( ا �9,�(  .��ر  �
���د 89� ,]S�� ��xC yz ]� �*�5a. 

                      )#��- �� )z�z �*�<D y` ا �- ,)d�9- )�,�S 8A� )z�` ا F.� ��(�`�هD` 1ا.( 
 -� ا;$ ا ?�ه�ة ا 	
 >��+%� ه!= ا 	4��(؟ -� _��2( ا �9ء ����	��د �.F ا ��Aر�( -8 ا ��*�ت ا ���D���D(؟ -1        0.5        

�د= ا VW2( θا��)�اف ا �اوي -2                     (<:
a

λ
θ =   

        0.5           2-1- )��2S ا#�ت�ا�[ �� +��( ��) ���   :
2. .D

a
L

λ
= . 

      N�5اa38:�� +��( لL mm= 3وD m=.  
��ض ا �2A( ا ��آ�
( -8 ا 2�ض -2-2             0.5        ��x	
   .`y؟ aآ�@ 

 (II)��4	 ر=: 2ا��Dا� �-�2- 
 �2�n=1,61ض ا )�*� ����zر ز*�*
�. (�� +��(  %!ا ا{�2zع                  D` 2ا (F.� �G(+# )z�` ا F.�     .�2A( �5�اء 

       0.5       1-�.� .-� _��2( ا �9ء ا �+�a2 -� ا .��ر؟
�( ا�	`�ر ا �9ء #
 ا %�اء وا ��اغ .  .�9ء νاN�5 ا 	�دد -2     0.5         �;83.10 /C m s=. 

                   3- N�5ا: 

12
.  %!= ا ��*( ا �9,�( #
 ا ���zر λ'_�ل ا ��*(  -3-1           0.5        � :
C

n
V

=  V :ر�z�� ا 
�( ا�	`�ر ا ��*( ا �9,�( #�;. 

30A:زاو
( ا ���zر ه
.  .��*( ا D )�,�9زاو
( ا��)�اف   -3-2             1          = °.  
 
 
  A                         
 
 D  )�D` 2ا(  
  ��ر 
 

 -��zر                                                            
 


 � ) �5�v ا ���zر  �D زاو
	[ ه
��� ا� -4 1 # ]:50A = �ث ا��D2س آ.
  .��*( ا �9,�( �.F و*[ ا 3�وج  .���zر.°(
.  
           (III )��4	 ل ��1>%� :  3ا�A	���� )D�`� ر�z�� �2�52.10ض اa m−= .
�.(ا �رود -+?�D` 3ا( 

�د ا `�Aق #
 و5�ة ا �1ل -1         0.5         � N�5(1) .ا 
I'ا�E >2��� #�ق ا ��� -2            0.5        Hδ �� (  (2)و(1) .��*	�� ا �9,�	�� =�a وθ. θ 
       0.5           3- 8A� د ا���-K  ءةذات�S}2��4%� ا< �2� )z�` ا F.� �%�.�
) ا ���D ا �G(ل �GA (2) ا   I 

   )2�4- );��        H .                                  ��ا;1( 
 'I  θ          )�D` 3ا                (                  

 )c�(.- :A� �G3<�
�	+�ء �7وراق ا 	)�W  ة�
(.  1( وا5�%�                                                                       
                                                                                                                                                   )D�z 

 

 )�,�
�	�ن          ذ:   -�ة ا���4ز    1�.�م #��
�,�(  1ا �ورة 1ا ��ض ا �)�وس رV$    1ا ���f( ��ك �.�م #���;.
 -�ا�

 


